
05.10.2006 11:38

   1 /   212996   7 Vacuum cleaner VCD50 230V
EUR

03.07.06 350091

cid_etlx V. 10.1 For information only, will not be exchanged when altered! Date

PageDrawingvalid as froDescriptionIndexItem-no

Spare parts list
HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., FL-9494 Schaan,
Principality of Liechtenstein © 2001 - 2006, Right of
technical and programme changes reserved, S.E. & O.

GIESE

   3

31262

281910

279067

70094

279068

31271

281895

281904

281900

278851

278848

278850

278849

281912

225999

279069

281891

278852

325618

278854

278855

281917

278876

31263

2

2

1

2

2

2

1

2

1

1

1

2

1

1

4

2

1

1

20

1

1

1

1

1

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

piece

piece

piece

piece

piece

piece

piece

piece

piece

piece

piece

piece

piece

piece

piece

piece

piece

piece

piece

piece

piece

piece

piece

piece

Hex skt csk hd scr M8x45mm

Runner D75X100M BREMSE

Bow

Hex skt csk hd scr M8X16

Plug cap

Cap nut M8 Selbstsichernd

Detent ring VCD 50

Knee-lever assy

Container assy

Spring SCHENK 1,25X11,75X5,25

Lock

Clamping ring KAPPE

Axle

Insertion module

Hex skt csk hd scr M8X30

Wheel assy

Protective cover VCD50

Pipe BUEGEL DREITEILIG

Screw 3,5X18

Grip upper part

Grip lower part

Sealing ring MANSCHETTE

Air deflector VCD 50

Air deflector ohne Flies

Item-no QuantityUnitCnt-no Description Specifications Proc.restr.



05.10.2006 11:38

   2 /   212996   7 Vacuum cleaner VCD50 230V
EUR

03.07.06 350091

cid_etlx V. 10.1 For information only, will not be exchanged when altered! Date

PageDrawingvalid as froDescriptionIndexItem-no

Spare parts list
HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., FL-9494 Schaan,
Principality of Liechtenstein © 2001 - 2006, Right of
technical and programme changes reserved, S.E. & O.

GIESE

   3

279070

325433

279071

278862

281921

279072

325493

325499

279073

325607

278875

281920

281919

281918

281944

325486

325488

325500

278868

281916

278866

31265

31264

281927

1

6

1

1

2

1

1

1

1

1

1

2

1

2

1

1

1

1

1

1

1

1

2

1

25

26

27

28

29

30

31

32

33

34

35

36

37

38

39

40

41

42

43

44

45

46

47

48

piece

piece

piece

piece

piece

piece

piece

piece

piece

piece

piece

piece

piece

piece

piece

piece

piece

piece

piece

piece

piece

piece

piece

piece

Adhesive label WARNHINWEISE

Recess raised csk head screw M6X90

Adhesive label VOLLABREINIGUNG

Cover hood EU assy

Rating plate VCD 50-L 230V EU

Nameplate SPRACHENBOGEN

Motor 220-230V assy

Carbon brush 220-240V set

Clevis pin

Ring 220-240V set

Plate SPANNPLATTE

Magnet assy

Receptacle ABREINIGUNG VCD 50

Ejot screw 5X35

Adhesive label SCHALTPLAN EU

Clamp

Terminal block

Supply cord 230V EU assy

Contact spring

Grip VCD 50

Plate VCD 50 assy

Filter locating disc kpl

Wing screw M6x35

Switchbox CE assy

Item-no QuantityUnitCnt-no Description Specifications Proc.restr.



05.10.2006 11:38

   3 /   212996   7 Vacuum cleaner VCD50 230V
EUR

03.07.06 350091

cid_etlx V. 10.1 F•r information0only, wiln not Be�exchanged!when alVered!


